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Mathematics - Answer Paper
Paper  I

1

Answer

(1) 3.5 ----------------------------------------------- 2

(2) x2 - 3x - 10 --------------------------------------------- 2
x2 + 2x - 5x - 10 ------------------------------- 1

(3) { 3,  7,  8 } --------------------------------------------- 2

(4) 1100 ----------------------------------------------- 2
 vertically oppsit angle 700

-------------------------------------- 1

(5) 13 ----------------------------------------------- 2

(6) 25% ----------------------------------------------- 2

(7)  650 ----------------------------------------------- 2
90 - 25 ------------------------------------------- 1

(8) 28cm ----------------------------------------------- 2

1 22
2 44

4 7
r    ------------------------------- 1

(9) 2
1
x

------------------------------------------- 2

x-2 ------------------------------------------- 1

(10) (x - 6)(x + 1) ------------------------------------------ 2
x2 - 6x + x - 6 ------------------------------------- 1

(11) 10cm ----------------------------------------------- 2
BC 7 = 14 5

or

14 5

7


------------------------------------------- 1

(12) 6x2y2 ----------------------------------------------- 2

(13) 700 ----------------------------------------------- 2

ACB = x


 or  2x  = 1400
-----------------------------------------1

(14) 5cm ----------------------------------------------- 2

1
6 AD 15

2
   ---------------------------------- 1

Part A (15) 400 ----------------------------------------------- 2
3x = 120 ------------------------------------------- 1

(16)
3

7

x
----------------------------------------------- 2

5 2

7

x 
------------------------------------------- 1

(17) S. A. S ------------------------------------------- 2

(18)  4 days ----------------------------------------------- 2

8 6

12


------------------------------------------- 1

(19) (i) 100cm2
----------------------------------------------------------------------------2

1
40 5

2
  ------------------------------------ 1

(20) 600 ----------------------------------------------- 2

0BAC 50


 --------------------------------------- 1

(21) x = 5 ----------------------------------------------- 2
7 - 2x + 4 = 1 -------------------------------------- 1

(22)

(23)
13

100
----------------------------------------------- 2

(24) (i) 800 ------------------------------------------- 1
(ii) 700 ------------------------------------------- 1 - 2

(25) (i) 2 ------------------------------------------- 1
(ii) 3 ------------------------------------------- 1 - 2
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(1) (i)
5

6
------------------------------------------- 1

5 3

6 5
 ----------------------------------------- 1

1

2
------------------------------------------- 1 - 3

(ii)
1 1

6 2
 ----------------------------------------- 1

2

3
------------------------------------------- 1

1

3
------------------------------------------- 1 - 3

(iii) 1800 ml -----------------------------------------2

1
600

3
 --------------------------------------- 1

(iv)
1

1800
6

 ------------------------------------- 1

300 ml -------------------------------------- 1 - 2
--------------------------------------------   10

(2) (i)
22 1

2 35
7 4

   ------------------------------ 1

55cm ------------------------------------------ 1 - 2

(ii) 13 cm --------------------------------------------- 2
5cm  obtaining 52 + 122

---------------------------------- 1

(iii) 40 + 35 + 12 + 13 + 55 -------------------- 1
155 cm ---------------------------------------- 1 - 2

(iv) 240 35 1400cm  -------------------------- 1

22 1
35 35

7 4
   ---------------------------- 1

962.5 cm2

21
12 5 30

2
cm   -------------------------- 1

467.5cm2
-----------------------------------------------------------------1 - 4

--------------------------------------------- 10

(3) (i) 360 - (117 + 90 + 45) ---------------------- 1

540 (
108

2
) ------------------------------------ 1 - 2

(ii)
360 5

45


--------------------------------------- 1

40 ------------------------------------------- 1 - 2

(iii)
40 117

360


 or 

117

9
--------------------------- 1

13 ---------------------------------------- 1 - 2

(iv)
40

10
4
 --------------------------------------- 1

10 + 10 = 20 --------------------------------- 1

360 20

45


------------------------------------- 1

1600 ------------------------------------------- 1 - 4
--------------------------------------------- 10

(4) (i) 508 ------------------------------------------ 1
 400 days ------------------------------------- 1 - 2

(ii)
10000

400
----------------------------------- 1

25 l ------------------------------------- 1 -2
(iii) 10000 - 50 3 25 ------------------------ 1

6250 l --------------------------------------- 1 - 2
(iv) 6250 - 250 = 6000 -------------------------- 1

6000

40 25
--------------------------------------- 1

6 days ----------------------------------------- 1
6 + 3 =  9 days ------------------------------ 1 - 4

--------------------------------------------- 10

(5) (i) for correct regions ----------------------------- 4

(ii) correct answer ---------------------------------- 2

(iii)  X Y  ----------------------------------------- 2

(iv) {a} {b} {a, b} ------------------------------- 1
any two --------------------------------------- 1 - 2

--------------------------------------------- 10

Answer
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Paper II
Part A

(1) (i) Rs. 9000 -------------------------------------- 1
Rs. 159 000 ---------------------------------- 1

120000 90

100


--------------------------------- 1

Rs.10 8000 ----------------------------------- 1
Rs. 73 600------------------------------------ 1
108 000 + 73 600 --------------------------- 1
Rs. 181 600 ---------------------------------- 1
 181 600 - 159 000 ------------------------- 1
Rs. 22 600------------------------------------ 1
22 600 > 22 000 ----------------------------- 1

--------------------------------------------- 10

(2) (i) 3, -1 ------------------------------------------- 1

(ii) Carrect axis ---------------------------------- 1
Marking points ------------------------------ 1
drawing graph ------------------------------- 1 - 3

(iii) 2 ----------------------------------------------- 1
(iv) by potting at least two points drawing

 the graph y = x --------------------------- 3
(1, 1) ------------------------------------------ 1 - 4

--------------------------------------------- 10

(3) (i) (x + 5)2 - (x + 1)(x - 3)--------------------- 2
x2 + 10x + 25 - (x2 - 2x -3) --------------- 2
12x + 28 -------------------------------------- 1 - 5

(ii) 12 x + 28 = 88 ------------------------------- 1
         12x = 60 ------------------------------ 1
             x = 5m
            10 m--------------------------------- 1
            100 m2

---------------------------------------------------- 2 - 5
--------------------------------------------- 10

(4) (a) 2x = 6 ----------------------------------------- 1
x = 31 ----------------------------------------- 1
for substitution ------------------------------- 1
 y = 5 ------------------------------------------ 1 - 4

(b) (i) 2x2 - 4x + 3x - 6 ---------------------- 1
2x(x -2) + 3(x - 2) -------------------- 1
(x - 2)(2x + 3) ------------------------- 1 - 3

(ii) 5(16 - x) -------------------------------- 1
5(42 -x2) -------------------------------- 1
5(4 - 2)(4 + x) ------------------------- 1 - 3
--------------------------------------------- 10

(5) (i) 9 ----------------------------------------------- 1
(ii) 6 ----------------------------------------------- 1
(iii) 5 ----------------------------------------------- 1
(iv) 12, 40, 90, 77, 64, 45------------------------ 1

328 ------------------------------------------- 1
328/50 ----------------------------------------- 1
6.56 or 6.5 ------------------------------------ 1
   7 ------------------------------------------- 1 - 5

(v)
7

10
2
 ----------------------------------------- 1

35 ------------------------------------------- 1 - 2
--------------------------------------------- 10

(6) (i) sketch with measurements -------------------- 2

(ii) bearing, scale for B ------------------------ 2
bearing, scale for C ------------------------ 2
bearing, scale for D ------------------------ 1 - 5

(iii) 0 0312 2 ---------------------------------------- 1

(iv) 5cm  0.1cm -------------------------------- 1
100m   2m ---------------------------------- 1 - 2

--------------------------------------------   10

Part  A

(7) (i) 3 11 1  ----------------------------------- 1
34 ---------------------------------------- 1 - 2

(ii) 6n - 5 = 55 ----------------------------------- 1
n = 60/6 --------------------------------------- 1
n = 10 ----------------------------------------- 1 - 3

(iii) 3n + 1 -(6n - 5) ------------------------------ 1
-3n + 6 ---------------------------------------- 1 - 2

(iv) 3, 0 ------------------------------------------- 2
  -3 ------------------------------------------- 1 - 3

--------------------------------------------   10

(8) (i) 30 20 10  ---------------------------------- 1
6000 ml or 6 l ------------------------------ 1 - 2

(ii) 240 5 --------------------------------------- 1
1200 cm3

-----------------------------------------------------------------1 - 2

(iii) 4200 + 1200 ---------------------------------- 1
5400 ml ------------------------------------- 1

3

Answer
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5400

30 20
-------------------------------- 1

9cm ------------------------------------- 1 - 4

(iv) 1000 cm2
-----------------------------------------------------------------1

10cm ------------------------------------------ 1 - 2
--------------------------------------------   10

(9) (i) drawing PQ -------------------------------------- 1

(ii) for perpendicular bisector ----------------- 1
    O ------------------------------------------- 1 - 2

(iii) constracting  600 ---------------------------- 2
for   PQR ---------------------------------- 1 - 3

(iv) angular bisector ----------------------------- 2
for M ------------------------------------------ 1 - 3

(v) constracting circle ------------------------------ 1
--------------------------------------------   10

(10) (i) AB = DC (opposite side) ----------------- 1

BA P = D CQ
 

 (alternate angles) -------- 1

0A PB = CAD 90
 


ABP CDQ    (A. A. S) ---------------- 1
AP = QC ------------------------------------- 1
(correspondingelement of   ) ---------- 1
AP - QP = QC - QP ----------------------- 1 - 6
AQ = PC

(ii) copying and drawingperpendicular ------ 2

1 1
.AB.PX = .DC.QY

2 2
------------------- 1

AB = DC ------------------------------ 1
PX = QY ---------------------------------- 4
--------------------------------------------   10

(11) (i) FCE = BAC
 

 (corressponding  ) ----- 1

BCF = A BC
 

 (alternate  ) ------------- 1

FCE + BCF = BAC + A BC
   

----------- 1 - 3

BCE = ABC + A BC
  

(iii) BAD = DAC 
 

----------------------------- 1

BA D = DFC 
 

------------------------------ 1

DAC = DFC 
 

 --------------------------- 1

AC = CF ------------------------------------- 1 - 4

(iii) 0A BC = 60


--------------------------------- 1

0ACB = 60


--------------------------------- 1

0BAC = 60


--------------------------------- 1 - 3

--------------------------------------------   10

(12) (i) {2, 4, 6, 8, 10} --------------------------------- 1
(ii) { 5, 6, 7, 8, 9, 10}------------------------------ 1
(iii) S = {1, 2, 3, 4, 5, 6, 7, 8,9 10} --------------- 2

(iv)
5

1 0
------------------------------------- 2

(v)
2

1 0
------------------------------------- 2

(vi)
3

1 0
------------------------------------- 2

----------------------------------- 10

4

Answer

Grade 10 - Maths - NWP

https://mathspapers.info/
https://pastpapers.wiki/

